%3

e300

iz e |
3 29 N = jJX = &= ==
(Eﬂﬁﬁ;‘%) > = i » = [ e | —
BEVNRIAHHEDEFE(X. EFﬁkzsfﬁfiwr%-EjJ{iFHE&Z}%‘BfﬁﬁXﬁﬁiz%o)%ﬁﬁv-—’ﬂ
0)!&75\ FET—INAFRHBLE DI OVNTIX, BEEOH T —2EHEALTHEE L=,
- BAEEAMAEHT—4
Hﬁ@*ﬁmﬁl1#¢é%ﬁ®ﬁﬁi
ﬁ*ibj’&iUCL\é%ﬁFtﬂﬁ*%&
. x[ﬁﬁ\xﬂiit%?iv‘-—@ .
Iﬁ*ib‘ﬂiﬁifégl:@%ﬁ_‘d‘é%‘[éﬁbxoyﬁﬁﬁ% o L )
FREIRILT—HEBAET 2. MERRATRILE—HEREIHAET —2F
- REARUBREFEARICESHLFZREK
(%Eﬁ%) .
F—4 AHiE Bifi: F5t-CO2
2006 | 2014 | 2015 | 2016 | 2017 [(&FEE)
FEEIFE| 3.77 554] 5.19 460 266
BRI 4.82 576] 5.94 6.00] 5.66
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- ERPHHRE 0.311kg-CO2/kWh (T R 224F BE K Bt R 31)

- BTh A RABEHZREL 2.29kg—CO2/m (225 E)

(GAEHER)
T—32 AN Bi{sf: Ht-CO2
2006 | 2014 | 2015 | 2016 | 2017 |(&FEE)
EEEM| 377 3.72] 3.63 329 217
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